& @ 0o dEOdeEn

DECODDOT GRBONEDE, O LXDDNE®E
03 && ®3J0®

adoe odoeane — 2013
DEDMDOIMO e aEmsSen 88 I-MCU 1207

WER® &t® pod (03)

€m0 : 2013. 06. 30 ed@P® : es. ©.9.30 - &. O. 12.30

eot® EEs =200 (05) 8E8ndt oes.

1 @)

(i)

(iii)

(iv)

v)

con cosd) i Ot QRO QO oM.

(2x=3y)(2x* +5xy +3y*)

(enzy 02)
(x+y)(4x* -9y?)
oH® 630 Boesse.
&) x*=13x*+36=0
&) x> =5x+6=0
®) 3x* -10x+3=0
(engn 03 Gs)
x=3 00 y=2 s 80 con gued DImn® emweies.
(x2 +1)(x2 —2xy + y2)
(y* +1)
(ea%n 02)
ooy oS0 B e o6 OBoIE Soesse.
x+3y=6
2x-y=5 (@@ 03)

cagjenigamenn o0850 6.8, 18 & oo dLudew B em.d. 20 I o8 &8 o
0N ORER GoIDSIe.

(eney 04)



@

(i)
(iii)

(i)

)

/)

onm eesld) aid Que &d Dose.

b%2a% (a* ~b*)% J(@a=b)

(en%y 03)
(ab)”? (a+b)(@+b)
2ea (0)- e (x-1)-ea 4)=0 B8 x 8 quo eask. (engy 03)

eSO eEHD S ©60 3 6 Ll GSHon 2 5" @O dnnd 63 880 §F
oeel 80 oe HE Sy DG QWE? (@x%n 04)

QeSO e@ENwn 2SO cem 18 oo ol 98 cex 162 a8" Y3 o oes
ODNO eI, (@< 04)

80 208 800 nowd =@ e @) odem gogds ot 500,000/- oesios
5000 abC acad OB, 090 Jude eewms i d98 A dndewn ( 12% o &
ee)gns e 9iB5®. B Suden( 10% » Oig eopos @ ©iBd. 600 SwmEo
een guds 0013 eoe, DnEer emIes. (=% 06)

enD OGN EMH® X J0ens GODEMH® Dok,

. 2
6 2 4+3x> +7x+4 G) Qx+7)(x*+2) (i) = jl
X
(en® 02) (eney 02) (@ 03)

OWBn e (y) oo coeDd DOEy 6 dre® (Xx) gud oBasiec coo
onogens cosa® OB, (@8 xo® y “‘GiBed 000° Sow OBS ©HS AE)
ae.

y = 400 + 240x — 2x*
@50 co0® 50500 LmeD DORN HCH e el v e e’
(engy 06)

oD OfD DS XOerens GRDEME DOSE.

(@) x*+4x+7 () x4+ ~17 (iii)
X

(@ne 02) (@@ 02) . (e 03)



Bex0s 40 ccearny DO Vi MBHD EMOT ERY) o5 SO cned.

15 4 12 20 14 18 8 10 8 15
6 14 10 22 16 11 9 8 20 10
24 29 4 5 17 9 5 16 13 11
20 12 9 19 15 11 6 5 14 10

(i) 1-6, 7-12, 13-18, 19 — 24, oo 25 — 30 25000 e oD of5® caomzs)@af

02350 e@d) smsim. (@& 03) k
(ii) 00 cio cONEDS B BOHNT @R HOS®. (exey 03)
(ili) O® R COH® CoERIB DO Ve LTNOR DDG eLIE. (@n%y 02)
@iv) cO®® e oem £EETm @Nm OyLe@s SHeSe. (exen 03)
) 5888 6% D qiads esln O PABIOG e&IEE. (engy 02)
(vi) ©gSSm o-ome Ope qiadsl DPLID PDABHBG GLH®B WOS. (@n%n 03)
(Vi) eode DS SIHER Dose. (enen 04)

Sdoiesm meoans € 70 ® ceeSHn Hr® DL DR D 85)56)0535 RO oHD
eess® ewmed.

ceeHD Heum® oD
“6t.000
20.5-30.5 2
30.5-40.5 ' 12
405- 505 24
50.5-60.5 o 18
60.5-705 | 14
Onnd 70

cO® Bl eONEDS cHm eeED) Gid DO OIWHD WOSS.

@A) Oz (BO090 eSS0 Mmoss oS, (e 02)
(i) eozdn (e 02)
(i) ©Bvo (engy 02)
(iv) ©o%on gqoodsn (emen 03)
) BOEB) @I (@R 02)
(vi) OO (e 02)

(vil) oo e BDE goesards cFwde SOHPG B8O wOSe. (@ngy 07)



6 o0 Bog] BAENO enwd edmes Gosss.

&) BoDHDHD ©H SHWIED

() o8B HWE oo cBado s HiiE

®) BwiE ecje oo HWE cmds eci

8) I80050D ©AND 0 aGudd MO CABND

®) O98» doEsw o® osfnbnm SN (% 05 Ee3)
©OHS)

@6 = L +( Fy —Fpy J C
+1

2Fm_I?m—l-_F‘m

DABEO® | L+[R;Fj C

- 5808 8d3H -



00254

THE OPEN UNIVERSITY OF SRI LANKA
BACHELOR OF MANAGEMENT STUDIES DEGREE PROGRAMME
LEVEL 03 '
FINAL EXAMINATION 2013
" QUANTITATIVE TECHNIQUES FOR MANAGEMENT MCU 1207
DURATION (03) THREE HOURS

DATE: 30.06.2013 TIME : 9.30 a.m. — 12.30 p.m.

ANSWER ANY FIVE (05) QUESTIONS

Q1. () Simplify the following expression

(2x-3y)(2x*+5xy+3y?)

(x+y)(4x2 _9y2) (02 marks)
(ii)  Solve the following Equations
@)  x*-13x%+36 =0
(b) x*-5x+6 =0
© 3x* ~10?c+3 =0 . (03 marks each)

(iii)  Find the value of the following expression when x =3 and y = 2
(x> +1) (x*—2xy +y?)

o) (02 marks)
(iv)  Solve the simultaneous equations
x+3y=6
2% y=5 (03 marks)
X—y=

(v)  The perimeter of a rectangle is 18 cm and its area is 20 sq cm. Find the length
and breadth of the rectangle.
(04 marks)
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Q2.

Q3.

®

(ii)

(iii)

@iv)

V)

(b)

©

Simplify the following expression

b a?% (a® —b*) J(ab)
(ab)”* (a+b) (@ +D)

If 2Log(x) - Log (x—1)—Log (4) = 0, find the value of “x”. (03 marks)

(03 marks)

In an arithmetic progression the first term is 3 and the common difference is 2.
Starting from the first term how many terms should we add up to get a total of
63. (04 marks)

In a Geometric progression the third term is 18 and the fifth term is 162. Find
the sum of the first five terms. (04 marks)

Sunil wishes to deposit Rs. 500,00 for three consecutive years to earn some
interest income. He can deposit in account (A) at 12% per annum on simple
interest or in account (B) at 10% per annum on compound interest. Assist
Sunil to find the best alternative. (06 marks)

Find the differential coefficient of the following functions with respect to “x”.

x*+1

x3

G  x+3x*+Tx+4 (i)  (x+7)(x*+2) (iid)

(02 marks) » (02 marks) (03 marks)

The relationship between net profit earned (y) and money spent on advertising
(x) is given by the following equation.
y = 400+240x—2x>

Both x and y are measured in “Rs. 000”
- Find how much should be spent on advertising so as to maximize profit.

(06 marks)

Find the integral of the following functions with respect to “x”.

.3 _
@  xdxrT () e i)
x x-1
(02 marks) (02 marks) (03 marks)
2
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Marks obtained out of 30 by 40 students at a midterm test is given below

15
6

24
20

@

(i)

(iii)
(iv)

W)

(vi)
(vii)

4 12 20 14 18 8 10 8 15
14 10 22 16 11 9 8 20 10
29 4 5 17 9 5 16 13 11
12 9 19 15 11 6 5 14 10

Construct a grouped frequency distribution table considering class intervals as
1-6, 7-12, 13-18, 1924, 25-30. (03 marks)
Construct a histogramme for the data with the help of the grouped frequency

distribution constructed above. , (03 marks)
With the help of the histogramme find the mode of the data. (02 marks)
Construct a cumulative frequency curve (ogive) for the given data. (03 marks)
Using the cumulative frequency curve find the median marks. (02 marks)
Calculate the quartile deviation using the ogive. (03 marks)
Describe the distribution of the data. (04 marks)

The daily output of an industry measured in “Rs. 000” for the past 70 days has being
put info a grouped frequency distribution as shown below.

Daily Output “Rs. 000” ‘Frequency
205 - 305 ' 2
30.5 - 405 12
405 - 505 24
505 - 605 18
60.5 - 705 14

Total ' ' 70

Calculate the following in respect of the above data. (Show workings and steps)

@)
(i1)
(iii)
(iv)
V)
(vi)
(vii)

Mean (you may approximate to closest integer) (02 marks)
Median (02 marks)
Mode (02 marks)
Standard Deviation (03 marks)
Coefficient of variance ’ (02 marks)
Skewness (02 marks)
Using above calculations describe data (07 marks)
3
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Q6.  Write short notes on any four (4) of the following (O5marks each)
@) Sample and population :
(b) Random sampling and non random sampling
(©) Sampling error and non sampling error
(d)  Descriptive statistics and inferential statistics
-(e) Discrete variable and continuous variable
(Copy rights reserved)
F, m _Fm -1
Note : MODE = + : - C
2F‘Im —Fm—l— Fm+1
MEDIAN = L+(R—F)C
f
4
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BeomBImE HMHS LIVSMEVEHBHIDSLD

(BTSSR SHmsssT Ul LTal BepFAsH SILLD
L 03

QuAl ufiens 2013

(paTmsHEIGSSBeTa sl wopsst -MCU 1207
smeotd (03) epeiIml  Lo6wfl & &5UITEVmIE 61T

Fagl :30.06.2013 Cryb:9.30 (p.u-12.30 AL

aTenauBuienitd @bl (05) elamebsEns@ ollenl 61(RSHIS.

Q1L. (@) L6HTeUHLD Gy @ TRIBEN6IT  6T61NENLOWITSEHS.

(2x-3y)(2x*+5xy +3y?)
(x+y)(4x* =9y*)

(02 usitsiasein)
(ii) Weite(HLD FIORILITBHEN6TS 85T EHS. :

(a) x*-13x*+36 =0
®) x*-5x+6=0
(c)  3x*-10x+3=0

(@euQeureiifid@d 03 Lsiellasin)
iii) x =3,y =2 gyealpsad Cursm daumd @GHHrmseisr GUDIgulmerds
&IT6u01 .

(x* +1)(x*-2xy+y?)

(»y*+D
(02 yeterlasein)
(Iv) QORSMWL FOAILTHEMENS HibEs.
x+3y=6
2x—y=5
(03 sitersein)
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(i)

(iii)

(iv)

V)

(@)

(b)
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OFsususirsinielr smmene 18 OF.LOBBELD, SiHer uglin] 20 FHIT
CF.5BBHLIGD. SIF CF6IMSHBHE KD, DFEVD YPSUeBlDaTS HrewHsH.

(04 yeiteMsmeir)
e GHAInhisemen slefleniowlndEs.
b2 a%% (a2 —b*) J(ab)
(ab)” (a+b)~(@a+b)
(03 Lsherisein)

2Log(x) - Log(x—1)-Log(4) = 0 salmller “X” Gupogluleners
BT .
(03 yeitefissir)

gl Led ellmsHownesless (pHeomeum 2 @iy 3 HwFHOD, BT Gung
albHwrgd 2 IGbh. 63 CIHHHmSL CUBIISBE: (PHOTH 2 DBITHjL 6
6T616N6TT6Y 2 Wil |HBHeneNTd Fnl L0 Gousmr(Bid.

(04 yenerfissir)

Cumsssd ellpHHEwmasen cpsipreud 2 @i 1810, mbHreus 2 _min] 162
WLIGWL. (WHOL WbH 2 mIIUbES6eNeT Fal BdH OHTensullened Hrams.
‘ (04 L6iterimeir)

seafled  epur. 500,00 eflenen QHTLIHSH cpeim  QIGLESGEHSG maulilell G
@eorud QU  efpoyBepri. et (A) eleiEId HeMBHD MBLHHBESG 12%
FTHTIN el igh@E enauliedeomd. Sisvevgdl (B) ereiienid sSemdbaled aupLHSHmE
10% &l G ellysdE maliusleomd. salesed Fmbhs wribBpelduieners &rem
2_H6s. 06 Lsirefsein)

(34

UelrsumUesuBpllsd “X” QHTLiuUTe eUenBUTL(H @ 6NIBBIGM6TS  HT6ub.

' |
() 3 +Tx+4 (1) @x+T)(x1+2) (iif) xle ~
(02 usiteriia6iT) (02 yeiterilasiT) (03 yeiterfl6iT)

Heiteuld  gweLneiigsd Caplw GeomusSnen  (y), elembuliL@HaiuHBE L6
(x) QeevelBew @enLBuulsien QHTLiY  SriUL BsiTeng..
y = 400+240x —2x>
X, v b “@mur. 000" Hsefled ool LU Beltenien. 2 (& G60MUSHenSHUIHL LI
eflembuFLILIBHHels0  eleucueney GFeve] Ot GouemiBl  6TEILIHMENES  BHI6wHIsH.
(06 LyeiterilameiT)
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Weaumd QemiBurGseisy “x” QarLiurer QHTensUT o @ 6mrsnIHm6TT
BHIT601H

3—
@)  xedxsT @) Pes @)
X x—1

(02 yeiterilasir) (02 yeiefaseir) (03 yeiteriiesir)

SIOWTEG Heuemeaill ufl engullsd 40 wremeuisenmed 30 LsiTelaeEnd@en GumplL

15
6
24

20

@

(i)

(iii)
(iv)

™)

(vi)
(vii)

. yeireflssit &6 Syl (Hsitement.

4 12 20 14 18 8 10 8 15
14 10 22 16 11 9 8 20 10
29 4 5 17 9 5 16 13 11
12 9 19 15 11 6 5 14 10

Ueiaipueapems a@iy L Qaelsamas &HS GUWWUUESSUULL  1IgBe  UFIDLI6D
DI L euenenrQuITeitenpd  HUINFoHES.
1-6,7-12, 13-18, 19-24, 25-30. (03 yeiterfiepeir)

BB simwHEILLL GULUUESSUULL Wyss uFbueier o SHalujL el HI6e|sEnHdbEaTen

Ben|PUEMTWID GEINTENET DIMLDEEHSH. (03 yeiterfieeiT)
QemipaenyusH et 2 seluj el HTelsn UBTTHMSHH ST, (02 yeiteriieeit)
SILLL L SHIosEndETs e Wgme ausnenuienwt (0give) SImdHES.
‘ (03 ysiterilepeiT)
FHreit 1igwes auemenuilenwl LWETLGSHS DRenLWidHlensd HIewisb.
(02 yeitsiaein)
Ogive swwid QETemih &T60 afevsmsnd HemrbsHa. : (03 yenarflamesir)
Hreyseier LgbUmey elluflsEs. (04 yeirerilaei)

®BHEBMHL @eiifer 70 B seEpsGAw Brembs Geouefuisst “@wur. 000" eflermed
SteTelLuC L @pwl UGSSUIUL L Bigmst Lbeors &6 ST L LLGSIEIBSI

BreMbs Qeuedui® “@ur. |  Wigme
000”

205 - 305 2

305 - 405 ‘ 12

405 - 505 24

505 - 605 18

60.5 - 705 14
QLoTHHID 70
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GuGsoujsiten Hreysmein QHTLILITEG LNeSToIHLIGTOIBNME &S [HS.
(Couemevsemenuild, LIQ(LPenMEMETTUD &HTesTLldes)

@A) e (sfuter Gemuil GemesHBEs (integer) swimfléseomd) \

(02 LyeiteriiapeiT)
(ii) @emL Wb (02 yeiteriiesir)
(i) esTyD (02 yeiterliepeir)
@(iv) Puw efevssd (03 yeiteieiT)
) LOTB6D  @G6MIEHLD (02 ysiterimsiT)
(vi)  @umuw (Skewness) (02 yeiterismsir)
(vii) GuwGsvuysiien semESHHMeND CBTEwIB Hrafene eiLifldses. (07 yeiteriaseir)

Q6. UereumuetsuBiled semeuCuignitd BreEBE (04) Hp GHLCOLWSIS.

(@)  wrPACWESSID, Giguitb

(b) sTaprBEl WrHRNCUIGLLD, sTeorBBBE WTSHOWGLILID
(© wrSHOWBHH60 eupayb, WLIANCUWIBHHSHEV6L60TSH 6U(IQOD
(d) efleugemr Lysiteeflufluwieuid, Signiworen Lsitellefuflufwieuid

(Descriptive statistics and inferential statistics)
(e) esdi orpileEhd, OHTt CHisdluwmer wrfaenD
(euCeuraiiflas@d 05 LysiTeriaei)

SN QLBMILD

(LlLifleniouemLwigi)
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GuGsoujsiten Hreysein QHTLILTE LsoIBLGTOIBMBES HewsHSHH.
(Cousmevdsemenu|ld, LIQ(LPEHBHEMETUID HT6wTLId )

(@)

(iD)
(iii)
(iv)
)
(vi)
(vii)

e (sfuwTen Geauull GaassHHBGs (integer) swmfléssomb) ‘

(02 Leiteras6iT)
@b (02 yegiteriaseir)
SLBTILD (02 yeiteriieiT)
Bww  efleussd (03 eiterisein)
LOTMBEY  GEMISLD (02 yeiteriise6iT)
e@umuwib (Skewness) (02 yeiteiaein)
GoBeuuysiten sambsBHEemens CaneiB srelenet efuifls@s. (07 yeiterilaeiT)

Q6. JereumuenauBrled elemauCuignid BEreidBE (04) Fpl GHLCOLWSIS.
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(b)
©
(d)

(©

WTHFOWEHSHVID, GSQUd
slapomBml rSFGuIGULD, staprBmms  wrHFCWGLILD
wrHROWGHSH0 aupaid, WIHFOWHHSHE06060TSH 6UIPAID
efleugewr Lsieflafiuflwed, oigpioren Lisitefellflufwsyin
(Descriptive statistics and inferential statistics)
uewiL] oTmlsEHD, Qemit CoiFdume wrplsemnbd
(@euQeuraifld@d 05 LsiterMasein)

@MY DUBMILD

(Ll flenLoujemrwigi)
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